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Quiz #3   Date: February 9, 2001

☺☺☺☺☺
a) What does ABC stand for? 

ABC (Activity Based Costing) is an accounting system that assigns costs to products based on the resources they consume. 

The costs of all activities are traced to the product for which they are performed.

b) What is the main advantage of ABC? 

Enables resource and overhead costs to be more accurately assigned to the products and the services that consume them. This enables a cost reduction program to target effective cost reduction.

c) What is the main disadvantage?

Cost/time consuming

2) The MegaEgo Corp. is investigating producing a game for the Xbox system. The costs of developing the game are estimated to be $1 million, the costs per game for production and distribution are $10, and the game is projected to sell for a net price of  $40. What is the breakeven point for number of games sold?

X: # of Xbox sold

Total Cost  = FC + VC = 1,000000+10X

Total Revenue = 40X

Breakeven: TC = TR ( X = 33,334 (games)

a) In the example discussed in class, what are the three ways by which cash was raised by the corporation?

Personal loan (paid-in capital), Bank Loan and Sale of Stock

b) Give three main differences between a sole proprietorship and a regular for-profit corporation.

Liability; Taxation; Easy to start; Life span; ... 

c) What is meant by 

i) Current Assets

Cash or assets convertible into cash at short notice (usually less than 1 year).

ii) Accounts Receivable

Money which is owed to a company by a customer for products and services provided on credit.

